VMiaster Typing Sheel
0% Reduction

QL1 v 1 Syl By R
8 1/2 x 11 trim size

77 1%

|

7.1 Under certain conditions, wind blowing past a rectan-
guiar speed limit sign can cause the sign to oscillate with a fre-
quency w. (See Flg P7.19 and Video V9.9.) Assume that w is
~ a function of the sign width, b, sign height, h, wind velocity, V,
air density, p, and an elastic constant, k, for the supporting pole.
The constant, k, has dimensions of FL. Develop a suitable set -
~ of pi terms for this problem. |
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